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2-Step Word Problems on Addition / Subtraction of Money
FREE Worksheet - 1

Time: 20 minutes

(Detailed solutions at the end)

1. Britney paid $40 in various bills.
She paid $12.15 for food, $10.45 for taxi and the rest for groceries.

How much did she pay for groceries?

Answer: $

2. Stacey has some money.

Her brother has $83.60.

If she buys a scrapbook for $12.10, she will have $43.55 less than her brother.

How much does she have?

Answer: $
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3. Mrs. Jordan and Mrs. Gray sold their wares at a park.
Mrs. Jordan earned $38.85.
Mrs. Gray earned $6.70 less than Mrs. Jordan.

How much did they earn altogether?

Answer: $

4. Carolyn has $24.05 at first.
Then she saves another $24.10.
She wants to buy a superhero costume that costs $82.65.

How much more must she save to buy the superhero costume?

Answer: $
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5. A toys store has water bottles on sale.

A water bottle that has a usual price of $15.35 is selling at a discounted price of $9.20.

Juan buys two such water bottles.

How much discount does he receive altogether?

Answer: $
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SOLUTIONS

Problem 1

$12.15 $10.45

$12.15 + $10.45 = $22.60
Britney paid $22.60 for food and taxi.

$40.00 - $22.60 = $17.40
She paid $17.40 for groceries.
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Problem 2

$83.60
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$43.55 - $12.10 = $31.45
Stacey has $31.45 less than her brother.

$83.60 - $31.45 = $52.15
She has $52.15.
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Problem 3

Mrs. Jordan

Mrs. Gray

$38.85 - $6.70 = $32.15
Mrs. Gray earned $32.15.

$38.85 + $32.15 = $71.00
They earned $71.00 altogether.
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Problem 4

$24.05 $24.10

$24.05 + $24.10 = $48.15
She has $48.15 altogether.

$82.65 - $48.15 = $34.50

She must save $34.50 more to buy the superhero costume.
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Problem 5

$15.35
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$15.35 - $9.20 = $6.15

He receives a discount of $6.15 on one water bottle.

$6.15 + $6.15 = $12.30

He receives a discount of $12.30 altogether.




